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® A AHEEMWESEH iz’%)i:i;r At MEETRE ke L
I EEFEHMNZO
1 BEEEIA
(1) ERGEERIRA 1,746 2,619 4,365 4,485 A 120
7 EARBEFSIXA 1,746 2,619 4,365 4,485 A 120 ERED40%E A FEMEERIHCRY
ERED0%EEAREICTTHSY
(2) FEZEERIA 449 0 449 927 A 478
7 BEEEFNDIRA 449 0 449 927 A 478 ERBELABBEMEERHITHY
(3) RBWA 50 0 50 50 0
7 BEHMREKENRA 50 0 50 50 O ZAERE 20FHM x1$4t=20FH
BAE 5FAXx6A=30FH
(4) 3#UIRA 1 0 1 1 0
7 ZERABIRA 1 0 1 1 O|EBFELFIR
BEIEIAG A 2,246 2,619 4,865 5463 A 598
2 BEFEHXH
(1) BEEXH 9,854 0 9,854 9,754 100
7 MR XEEEERE 8,000 0 8,000 8,000 0
BmEXH 8,000 0 8,000 8,000 0|@1,000FM x 84
1 BEBNRREIEEEEIS 600 0 600 600 0
BREXH 600 0 600 600 0|@ 200FF x 3
Y OENRRXIBEREEXE 600 0 600 600 0
BREXH 600 0 600 600 0|@ 300FM x24¢
I FHARBREREEERSH 114 0 114 114 0
BIEEME N 74 0 74 74 O|ERMEH, WEBH —/N\—fftiF B
FIRI S AR E X H 40 0 40 40 0| &IRENFIE S
4 HEERELEMAESEEEIH 420 0 420 420 0
RERBEE N 182 0 182 182 0|iBEEHRE
BIEEME N 25 0 25 25 0
HERBEXH 20 0 20 20 o:HsEm—=
FIRI S AR E X H 65 0 65 65 O|F %R
SRR 20 0 20 20 O|=&EAK
E-Cikosa] 108 0 108 108 (E-EEN
H TOMBEEERE 120 0 120 20 100
RERBEEH 20 0 20 20 O|BREEEESERAE
EE o] 100 0 100 0 100 | BB EEmEE
(2) EBEXH 0 948 948 948 0
7 EREXH 0 948 948 948 0
REEXH 0 50 50 50 O|sESHHERN
RERBEEH 0 88 88 88 O|ITERE -ERFES
BIEEME Y 0 40 40 40 O|EMERIE
HEMNSREREZH 0 10 10 10 0|=HAHES
BREXH 0 4 4 4 O|=EMAK
HEREXH 0 50 50 50 O|EHAXESE
FIRISYAE X 0 50 50 50 0| HEENRI%
FHEHZH 0 10 10 10 O|EMEIRE FHAE
SEEMZH 0 159 159 159 O|&HVRTLERHSE
aELxH 0 20 20 20 OlFTcsmMaHESSE
ARARZH 0 5 5 5 O|ENfgA
EREXH 0 462 462 462 O|RHBEREBRZANSE
EHFTZHEB) 9,854 948 10,802 10,702 100
EHFEINZEE(C) =(A)—(B) A 7,608 1,671 A 5937 A 5239 A 698
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® A AFAHEERE| FEASH a5t MERTRE B
IHREZDRNZ DI
1 REEEIA
(1) EAE EELHRIRA 0 0 0 20,000 A 20,000
7 ERBEEERA 0 0 0 20,000 A 20,000
(2) BEEEIARA 34,653 0 34,653 10,763 23,890
7 BIRER R E E AR IA 34,653 0 34,653 10,763 23,890
HEFHIRAGD) 34,653 0 34,653 30,763 3,890
2 BEFEHIH
(1) EXRMERFIH 0 0 0 20,000 A 20,000
7 EARPERSXIH 0 0 0 20,000 A 20,000
(2 BEAERSXH 27,045 0 27,045 0 27,045
7 BB EEIEERSXH 27,045 0 27,045 0 27,045
REFEIHEIE) 27,045 0 27,045 20,000 7,045
BEFHINZZELE(F) =0D)—(E) 7,608 0 7,608 10,763 A 3,155
IR3Z Z%8(G) =(C)+(F) 0 1,671 1,671 5,524 A 3,853
I FIEEZHH) 100 0 100 100 0
HHURZ ZEED =(G)—(H) A 100 1,671 1,571 5424 A 3,853
BIEARRBIR 3T 22 5E(J) A 19,683 14,606 A 5,077 A 5424 347
REFEHUR T ZFAEK) =) + () A 19,783 16,277 A 3,506 0 A 3,506




